EARAROBEEIERT — 2 N— IBISH —F

201956390 (B) 3mpR#4H

BEl=<—*Fs G3 #5%3&L (@R % (%) /o7

‘ [R1&] & ‘ [REBE] — | Z (%) 20000 B

[A®4] 1 % 36,000,000 @ 2 7 :14,000,000 @ ~ 3 3 :9,000,000 @ . 4 3 :5,400,000 @ 5 & : 3,600,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= NERS :00. -15-15- . . EREE (EX)
1 3 ¥5 2 4 4 5/?_0 2(0_0)3 14-15-15-15| 34.6 | 107.0 | 7 ?231 i ond
L:ANT—F B:557 HBE77— L
Y RS = — 8 4 | HARR— 2:00.3 11-11-11-9 | 35.0 | 107.1 | 10 | 444 |BRE (FER)
2|86l Ly FF¥T1—= 51.0 (NF) (6) | @) HRE-2L-—2>
R:FA—TAT b BiLy RAF2—H J—HrTr—L
N = 4 4 | HHEES 2:00.4 10-10-10-9 | 35.2 [ 106.1| 5 470 | BIERE (ER)
Ah—Ly bHZ 53.0 (3/4) (6) | FIEIEA
R:g1 7 h7—EY BT bR HRXEHE /-
S, # o4 | ERKR— 2:00.7 14-13-13-12| 35.2 | 103.0 | 1 466 | BEFRFM (EX)
27 aA 54.0 (1 3/4) © | @B FravbIr—n
LT —TANT b BT RIA V252 % J—HrTp— L
. = it 6 | BAR 2:00.8 13-13-13-15( 35.2 | 102.0 | 16 | 432 |&fi@s (FR)
WAL INFI—F 5.0 ) Coy | ) AR
LN—E>Tv— BNy aFLgrX BN vie ]
N JI| B HE :00. —6-6- . . HAEE (EXR)
YT AT i 5 e 2(700t§3 6-6-6-5 |35.9(102.2| 2 (5:)23) EEE;E%
RN—E>Tv— BELHFA L J—HrIr—L
5 | e 2:00.8 14-15-15-12| 35.4 | 102.1 | 15 | 468 |HEMEFMF (BR)
FAhHST—=Ib 50.0 (NF) ) (%) ¥—77—-2X
LNn—ErTv— B:TLT7HvR5—FK PN NN
A 4 6 | HALBLF 2:01.1 8-8-8-7 [36.0] 99.2 | 9 506 | AARER (R=)
8l714| 71 —>ANZX b 52.0 (1 3/4) (+4) MB;
R:T—UTH—R BIRTA>TILY J—HrTp— L
= # 5 | KHE 2:01.2 6-6-6-7 |36.2| 98.3 | 11 486 | BFUE— (EH)
911 VI eyl 52.0 (1/2) +2) HHBCE
Ln—ErTv— BYCTa7 T J=YrTrp—L
C= 2 s 4 | EHP 2:01.5 11-11-11-12| 36.1 | 95.2 | 12 | 450 |$HAFEE (E®)
10{ 1] 2 rjx/\_/%:\ 49.0 (1 3/4) (42) =
LI >T75voa B:VUy RTSFFL BANS
B4 | BEREX 2:01.6 3-4-4-2 |36.9| 94.9 | 4 508 | AEHT (RR)
1) 7[13] == 51.0 3/4) Lo | ) G1L-s
RN=YT774 B:NFZtE— =Ty —LA
= B4 | WIEE 2:01.7 1-1-1-1 | 37.4| 94.4 | 13 | 486 |BRA— (RR)
12/51]9 7 RKIT—2 50.0 (1/2) 2) | (A) HAL—ZK-X
R:ANT7z—9) B:7R7-—FK () #B8a—-FL—->a>@qE77
4 5 | BiEE 2:01.7 3-4-4-2 | 36.9| 94.0 | 6 474 | REED (EH)
130 12| 7R—L ATV 7 55.0 (7E) Loy | B FrF-L-vry
RiFA—TAN b BXT I =L =Y Tr—LI
s _s 4 4 | RIURE—ER 2:01.9 8-8-8-9 |36.7| 91.8 | 14 | 484 |HAEE (RR)
14 6 AL UI—-23 0.0 (1 1/4) (+4) $HABER]
RN—E>Tr— BANLTY21-)L2 J—HrTr—L
S5 R > 4 | M. FL-0O 2:03.1 3-3-3-5 |38.4| 82.8 | 3 508 | AEBE (EX)
150l 5 @7~ Fx 54.0 @ 0 | ERSHARR—A -5 > T
A:Blame #:Loure Winchester Farm
“ s 4 | FHEEZ 2:03.1 2-2-2-2 | 38.5| 8.9 | 8 478 | REEXLT ()
16/ 5(10| L=V = )b 51.0 (NF) (12) | B) ®vAvbT7—L
Riw>NnNyahT7r BIRT14—-92 J =Y Ty —L
@ 71 L
) 48.1-36.0
NA> 24 L | 12.2-10.9-12.2-12.2-12.3-12.4-12.1-11.8-11.4-12.8
® I —F—@EBIERL
13=3r= 9-10(5,13,12) (1,11) (6,14)15(2,16)8(3,4,7)
2= = 9-10,5(13,12) (1,11) (6,14)15(2,16) (4,8) (3,7)
Gal=7r= 9-10,5(13,12) (1,11) (6,14)15(2,16) (4,8) (3,7)
40—+ — 9(10,13,12) (5,11) (1,14) (6,15,16) (2,4,7) (8,3)
[ N3
BB 3 1,420 714K 3-16 5,520 e E 2-8 1,530/ RPEL:] 3-15-16 56,780
8 B 3 500 Balld) 2,480 B = 3-16 19,380M B 3-16-15 391,310
16 950H 15-16 3,840/ B H 3-16 33,6804
15 410M

ABICOVWTRDTEEERROODE. TR LIV,




